
Group 1

Group 2

Group 1

Group 2

JW_rc = (RW_rc + YW_rc) / 2
RG_freq = [RW_RG_rc / RW_rc + YW_RG_rc / YW_rc] / 2
GG_freq = [YW_GG_rc / YW_rc * RW_YG_rc/ RW_rc + YW_GG_rc / YW_rc] / 2
GG_freq = [YW_GG_rc / YW_rc * RW_YG_rc/ RW_rc + YW_GG_rc / YW_rc] / 2

Concatenated Window 1

JoinedWindow (JW)
RedWindow (RW)
YellowWindo(YW)
...
Red Genotype (RG)
Green Yenotype (GG)
...
Read count (rc)

JW_rc = (2 x JW_rc + BW_rc) / 3
RG_freq = [2 x JW_RG_rc / JW_rc + BW_RG_rc / BW_rc] / 3

EM to find that given the observed frequencies in both windows, which is the matching genotype in 
the second window

P(JW_rc x JW_GG_freq) = P(BW x BW_GG_freq)
P(JW_rc x JW_BG_freq) = P(BW x BW_BG_freq)
OR
P(JW_rc x JW_BG_freq) = P(BW x BW_GG_freq)
P(JW_rc x JW_GG_freq) = P(BW x BW_BG_freq)

Group 1

Group 2

Group 1

JW_rc = (2 x JW_rc + BW_rc) / 3
RG_freq = [2 x JW_RG_rc / JW_rc + BW_RG_rc / BW_rc] / 3

EM to find that given the observed frequencies in both windows, which is the matching genotype in the second window

...
OR
P(JW_rc x JW_RG_freq) = P(BW x BW_PinkG_freq x JW_RG_freq)
P(JW_rc x JW_GG_freq) = P(BW x BW_GG_freq x 1)
P(JW_rc x JW_BG_freq) = P(BW x BW_PinkG_freq x JW_BG_freq)
OR
...
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Window 2

Window 3 Window 4

Window 1 Window 2

Concatenated Window 1 Window 3
Concatenated Window 2
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